FgArea: [ E1']
NC11 P6
2025-06—-09 (Day 65)
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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP6AE_E1
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P6AE

BYiE) | GEBAK (R | EHME (ERH/HK) | EBRRE (B/R) 5 ERF

08:25 340 160.0 0.314 M| FiHBe08:25 KREFIEF (RAEREE)
08:55 340 160.0 0.314 M| FiHfe08:55 KHEIEF (KRFEHERES)
09:35 340 160.0 0.314 M| FHAe09:35 KENFZEF (RAAfREE)
10:10 340 160.0 0.314 M| FHA@10:10 KRENFEF (RF{EELEE
10:45 340 160.0 0.314 M|  FiHfe10:45 REIEF (REHERES)
11:15 340 160.0 0.314 M| FEAe11:15 KREIZF (RAKEE)
11:45 340 160.0 0.314 M| FHAe11:45 KREIEF (RAEEE)
12:15 340 160.0 0.314 B FrHRe12:15 KREIEF CGRAMEREE)
12:45 340 160.0 0.314 RS ThHA@12:45 KEIEF CGRAMEEE)
13:15 340 160.0 0.314 FA| FhHA@13:15 KRENFZEF (RAA{EEE)
13:45 340 160.0 0.314 FA| hHR@13:45 RHMIEHF (RAKLER)
14:15 340 160. 0 0.314 | PBH| FifAe14:15 KEIEHF (RAMEEE)
14:45 340 160.0 0.314 FR| FHA@14:45 REIZF (RAERES)
15:20 340 160.0 0.314 M| iHBe15:20 KEFEF CGRAEREE)
15:55 340 160. 0 0.314 | ™| FifAe15:55 KEIEHF (RAEEE)
16:35 340 160.0 0.314 M| FHAe16:35 KRENFZEF (RFAEEE)
Bit] 5440.0 (167%) 2560. 0 3203 KEC: 2080.0, PH: 5.5

FHEKRECE (2120.0 vs 4625.0) 35




FRV (ml plant-1)

ET (ml/hr/plant)

P6AE_E1, Day=65 (2025-06-09)
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P6AE

BfiE) | GEBEETIC (7)) ERE (EA/K) | EREE (F/R) | XK R

06:50 600 160.0 0.314 = {Ri%@06:50 F 3 (KRAERSE)
07:20 600 160. 0 0.314 E BRi&e07:20 Fz1 (RAERERE)
08:15 600 160.0 0.314 5| {Ri%e08:15 F 3 (FAMERSE)
08:55 600 160.0 0.314 = {Rig@08:55 F iz (KRAERSE)
09:30 600 160. 0 0.314 E 1BRi&@09:30 Fzh (RAEREE)
10:00 600 160.0 0.314 5| {Ri%@10:00 F3h (KAL)
10:30 600 160.0 0.314 =l {Ri%@10:30 F31 (RAERSE)
11:00 600 160.0 0.314 S {Rige11:00 Fzh (KRAERSE)
11:30 600 160.0 0.314 5 {Ri%e11:30 F3h (RAERSE)
12:00 600 160.0 0.314 =l {Rige12:00 F31 (RAERSE)
12:30 600 160.0 0.314 S {Rige12:30 Fz (KRAERSE)
13:00 600 160.0 0.314 E| {Rig@13:00 Fzh (REERSE)
13:30 600 160.0 0.314 F BRi%e13:30 Fz1 CGRAERESE)
14:00 600 160.0 0.314 S {Rige14:00 F3 (RAERSE)
14:30 600 160. 0 0.314 E BRige14:30 Fz1 CGRAERESE)
15:00 600 160.0 0.314 F[ BRi%e15:00 Fz1 (GRAERESE)
15:30 600 160.0 0.314 = 1Ri%@15:30 F3 (REAERSE)
16:00 600 160.0 0.314 El BRige16:00 Fzh (GRAERERE)
16:30 600 160. 0 0.314 = RRi8016:30 Fzh (RAEESE)
17:00 600 160.0 0.314 =l RRiB@17:00 Fzh (RFAEEE)
&23t| 12000.0 (20)%) 3200.0 3 HKEC: 2080.0, PH: 5.5

AREMRERA (0.91) , BFEE

FeREHLERE STHAEART (265.0 :
EIREBAHC R F AR B2 18 (300 vs 333.0))

BRIASERRGERE144. 0 ml.

FEERECE (2153. 0 vs 4420.0) i3
LRGERIEC (2511.0) S54RAVEY (2080.0) REK K, BHHRE.

144.0), FIRERREERE




P6AE_E1, Day=64 (2025-06-08)
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P6AE

BfiE) | GEBAK (D) | ERE (EA/K) | ERERE (B/R) | XS R

06:45 333 160. 0 0.314 E BRi%e06:45 Bl (RAERE)
07:20 333 160. 0 0.314 = RRi8007:20 Bah (RAEESE)
08:20 333 160.0 0.314 = {Rig@08:20 B (KRAERSE)
09:05 333 160. 0 0.314 E 1BRi&@09:05 Bzl (RAEREE)
09:45 333 160.0 0.314 5| {Ri%@09:45 B3 (FRAMERSE)
10:20 333 160.0 0.314 =l RRi8010:20 B (RFAEEE)
10:50 333 160.0 0.314 =l RRiB010:50 Bzh (RAEEE)
11:20 333 160.0 0.314 El BRi&e11:20 Bz GRAEREE)
11:50 333 160.0 0.314 =l {Rige11:50 B3 (RAERSE)
12:20 333 160.0 0.314 Sl {Rige12:20 B3 (RAERSE)
12:50 333 160. 0 0.314 E| {Rig012:50 Bzh (RE{ERSE)
13:20 333 160.0 0.314 F BRige13:20 Bz CGRAERE)
13:50 333 160.0 0.314 S| {Rig@13:50 B3 (KRAERSE)
14:20 333 160. 0 0.314 El BRige14:20 Bz (GRAERESE)
14:50 333 160.0 0.314 F BRige14:50 Bz CGRAERSE)
15:20 333 160.0 0.314 =l {Rig015:20 B3 (RAERSE)
15:55 333 160.0 0.314 E BRi&e15:55 Bz (GRAERERE)
16:40 333 160. 0 0.314 =l RiB016:40 Bah (RAEESE)
24t]5994.0 (18X%) 2880. 0 32 KEC: 2080.0, PH: 5.5

AREMRERA (0.91) , BFEE

MERRHER 2 STHIE RS (541.0 : 288.0), AIRE/KREERE
EOREBIRTC AR IR R 329 (600 vs 333.0))

BRIASERRERE288. 0 ml.

#[EKECE (2160.0 vs 4393.0) 5

LORGEBIPH (6.5) S5#ERVEN (5.5) REKK, BERE.



P6AE_E1, Day=63 (2025-06—07)
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P6AE

BfiE) | GEBATK (D) | ERE (EA/K) | ERERE (B/R) | XS R

06:55 333 160. 0 0.314 E 1BRi&e06:55 BEh (RAERE)
07:30 333 160.0 0.314 5| {Ri%@07:30 Bz (FAERSE)
08:30 333 160.0 0.314 = {Ri%@08:30 B (KRAERSE)
09:10 333 160. 0 0.314 E BRi&e09:10 Bzl (GRAERE)
09:45 333 160.0 0.314 5| {Ri%@09:45 B3 (RAERSE)
10:20 333 160.0 0.314 =l RRi8010:20 B (RFAEEE)
10:50 333 160.0 0.314 =l RRiB010:50 Bzh (REAEEE)
11:20 333 160.0 0.314 El BRi&e11:20 Bz GRAEREE)
11:50 333 160.0 0.314 =l {Rige11:50 B3 (RAERSE)
12:20 333 160.0 0.314 S {Rige12:20 B3 (RAERSE)
12:50 333 160. 0 0.314 E| {Rig012:50 B3h (RE{ERSE)
13:20 333 160.0 0.314 E BRige13:20 Bz CGRAERESE)
13:50 333 160.0 0.314 S| {Rig@13:50 B3 (RAERSE)
14:20 333 160. 0 0.314 E BRige14:20 Bz (GRAERESE)
14:50 333 160.0 0.314 E BRige14:50 Bz CGRAERESE)
15:20 333 160.0 0.314 =l {Rig015:20 B3 (RAERSE)
15:50 333 160.0 0.314 E BRi&e15:50 Bz (GRAERERE)
16:30 333 160. 0 0.314 = Ri8016:30 Bah (RAEESE)
2it]5994.0 (18X%) 2880. 0 32 KEC: 2080.0, PH: 5.5

AREHTERRA (0.91) , BEE

MEREHERE STHAEARS (296.0 : 163.0), AIREKREERE
BRIASERRIERE163. 0 ml.

FEERECE (2163.0 vs 4262.0) i3

LRGEEIPH (6.5) H5i&E@E (5.5) REKKA, BT,
LRGERIPH (6.5) SHRAVEEW (5.5) RERK, FRE.
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P6AE_E1, Day=62 (2025-06-06)
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cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)
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P6AE

BflE) | GEBRAK @) | ERE(EH/R | EREE (F/R) [ XS R

06:25 327 160.0 0.314 F BRige06:25 BEh (RAERSE)
07:05 327 160.0 0.314 = {RRiB007:05 B (RAKEE)
07:55 327 160.0 0.314 = {RRi8007:55 Bz (REAEEE)
08:45 327 160.0 0.314 [Z=| 1BRi&e08:45 Bzh (REERSE)
09:25 327 160.0 0.314 FR| 1B2i%@09:25 B3h (kB{EREE)
10:05 327 160.0 0.314 FA| 1B2i%@10:05 B3h (RAB{ERESE)
10:40 327 160.0 0.314 FA| 1BRi%@10:40 B3h (RAERSE)
11:20 327 160.0 0.314 FA| 1BRi%@11:20 B3h (kAEREE)
12:00 327 160.0 0.314 FA| 1B2i%@12:00 B3h (RAB{ERSE)
12:35 327 160.0 0.314 FE| 1BRi&@12:35 Bzh (RAEREE)
13:15 327 160.0 0.314 |2 =| 1Ri%e13:15 Bz (REZBE)
13:50 327 160.0 0.314 |Z=| 1Ri%e13:50 Bz CGREEZEBE)
14:25 327 160.0 0.314 |Z=| Ri%e14:25 B (REEZERE)
15:15 327 160.0 0.314 |2 =| 1Ri%e15:15 Bz (REEZEBRE)
16:10 327 160.0 0.314 |z =| 1Ri%e16:10 Bz CGREAZERE)
2it] 4905.0 (15)%) 2400. 0 3203 KEC: 2080.0, PH: 5.5

Wk FEERRmA (0.91) , FRE

MEREHER 2 STHAE RS (301.0 : 157.0), AIREKREERE
BRIASEBRERE157.0 ml.

FEREIPH (6.68) 5i&FEPH (5.5) REKK, FHRE
FHEKRECE (2140.0 vs 4285.0) 35

LRGEBIPH (6.5) 5i&EME (5.5 REKK, BRE.
LOREBIPH (6.5) S5#EEVEN (5.5) REKK, BWE.



P6AE_E1, Day=61 (2025-06-05)
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